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SECTION A — (10 x 1 = 10 marks)
Answer ALL questions.
Multiple choice questions.
Choose the correct answer

1 -1 2
1. The rank ofthe matrix {2 -2 4| is
' 4 -4 8
@ 1 () 2
(0 3 , d 4
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£ 3 1 is
Inverse 0 )

2 —1]
(a) [_5 3

3 -1 -3 5
© [-5 ;3) ® -[1 *2}

In gauss-elimination method the coefficient maus::

is transformed into

(a) upper triangular matrix

() lower triangular matrix |

(¢} null matrix
(d) - none of these
Gauss-Seidal method is

(a) Direct method

(b) Iteration method

" (© Relaxation method

(d) None of these

https://www.bharathiaronline.com



If a set of numerical values of the integral f(x) 2 7 Which of the following are true for all sets of data
b

] h a N del
i i (a) Arithmetic mean = median € mo
- single valued function 18 applied to jf (x)dx then ]

¢ . (b) Arithmetic mean > median > mode
that ﬁrocess is known as | (¢) Arithmetic mean = median = mode
(@ a numerical integration (d) None of these
(b) quadrature 8. 10°is the mean of a set of 7 observalions and b os

, the moan of & set of 3 observations. The mean et

(c) interpolation combined set is given by

(@) none of thes? _ o - @ 15 (b) 10
| o b | (c) B85 @ 75

To improve the accuracy of the result J-f (x)dx by

g The correlation coefficient always lies between

- : (a) -=»to+w ®) -1to+l

(a) by increasing the number of intervals and £il
e
decreasing the value of h () -3to+3 (d) None orthes

using trapezoidal rule

(b) by decreasing the number of intervals and

10. The coefficient of correlation is independent of
decreasing the value of h

(a) change of scale only
(c) by decreasing the number of intervals and

] ' f origin only
increasing the value of h (h) change oforig

' ‘ h change of scale and origin
(d) by increasing the number of intervals and (¢) both chang

increasing the value of h (d) neither change of scale nor change of origin
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SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

11. (a) Find the inverse of the matrices.

3 1 -1
2 -2 0
1 2 -1

Or

2 2 1
(b) Find the eigen valuesof A=|{1 3 1|
A1 2 2

12. {(a) Apply Gauss elimination method to solve the

equations.

3x+4y+52=40,2x-3y+42=13, x+y+2=9

Or

(b) Apply Gauss-Jordan method to solve the

equation.

x+dy—z=-5x+y-6z=-12,3x-y-2=4
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Find the first and second- derivatives of the

13. (a) _ |
n tabulated at the point x=1.1 and

functio
x=12.
- 10 12 1.4 1.6 1.8 2.0

0 0.128 0.544 - 1296 2.432 4.00

}’ .
Or
fdx I I
\ LI ing Trapezoidn] rule,
() [Dvaluate I " by using Lrap L

I :
hitps:/fwww.bharathiaronline.com
14. (a) Calculate - the 'i'rieaﬂ?___' for the following
- frequency distribution.
Class-Interval: 0-8 816 1624 24-32 3240 4048
Frequency : 8 L7 16 24 15 7
Or

(b) What is standard deviation? Explain its
superiority -over' other measures of
dispersion. -
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15. (a) The marks obtained by 10 stu.dgnts n
statistics and computer programming are

16.

given below. Find the correlation coefficient.
Marks in Statistics (x): 75 30 60

Marks in computer 45 bH4 91
programming (¥) :

Marks 1n Statistics fx): 15 40 38

Marké in computer 35 43 45
programming (¥) :

(b)

(a)

Or

Equations of two regression

8x-10y+66 =0, 40x-18y =214 then find
the correlation coefficient of between x and

.}' : ~ o

SECTION C — (5 x 8 = 40 marks)

Answer ALL questions.

80 53
58 63

48 35
44 85

lines

are

Find the value of ‘k’ for which the matrix is

of rank 3.

W o D
Sl e
Moo

9
61.
k
Or

-7
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17.

18.

-

1 2 3
) If A=|2 1- 3] find the eigen values of
3 3 l '
A +104% -2A.

(a) Solve the following equations by Gauss-

Jordan method x+3y+22=17,

x+2y+32=16, 2x-y+42=13.

Or

(b) Solve the following using Gauss-Seidal
method.

L 54?’5+J’-+Z=110=- 2:1:-+ 1_5y+62=72.l
-x+6y+272=85.
(a) Obtain the value of f'(90) using Stirling’s
formula to the following data.
X 60 75 90 105 120

f(x): 282 3882 432 409 377
Or
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19.

(b) Evaluate ]Sinxdx by
) 0

(i) Trapezoidal rule

(i1) Simpson’s rule using 11 ordinates.

(a) Given below is the distribution of 140
candidates obtaining marks X in a certain
examination.

10 20 30 40 50 60 70 80 90 100

140 133 118 100 75 45 25 9 2 O

Calculate the mean, median and mode of the
_distribution.

Or

(b) For a group of 200 candidates, the mean and
standard deviation of scores were found to be
40 and 15 respectively. Later on it was
discovered that the scores 43 and 35 were
misread as 34 and 53 respectively. Find the
corrected mean and standard deviation

corresponding to the corrected figures.
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20.

(a)

ally destroyed laboratory record of

arti . |
- s of correlation data, the following

an analysi _
results only are legible.

Variance of X =9

Regression equation 8x-10y+66=0,
40x -18y =214
What were :

(i) the mean values of X a_nd Y

(i) the correlation coefficient between X
and Y

(iii) the standard deviation of Y"

- Or
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